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Efficient portfolios of N risky securities are portfolios that

A) are formed with the securities that have the highest rates of return regardless of their standard
deviations.

B) have the highest rates of return for a given level of risk.

C) are selected from those securities with the lowest standard deviations regardless of their returns,
D) have the highest rates of retum and the highest standard deviations.

E) have the lowest standard deviations and the lowest rates of return.

Which of the following would tend to reduce a firm’s P/E ratio?

A) The firm significantly decreases financial leverage.

B) The firm increases return on equity for the long term.

C) The level of inflation is expected to increase to double-digit levels.
D) The rate of return on Treasury bills decreases.

E) None of the above.

Which one of the following statements regarding orders is false?
A) A market order is simply an order to buy or sell a stock immediately at the prevailing market price.
B) Alimit sell order is where investors specify prices at which they are willing to sell a security,

C) Ifstock ABC is selling at $50, a limit-buy order may instruct the broker to buy the stock if and when
the share price falls below $45.

D) A day order expires at the close of the trading day.
E) None of the above.

The duration of a perpetuity with a yield of 8% is
A) 13.50 years.

B) 12.50 years.

C) 6.25 years.

D) cannot be determined.

E) none of the above.

Home bias refers to

A) the tendency to vacation in your home country instead of traveling abroad.

B) the tendency to believe that your home country is better than other countries,
C) the tendency to give preferential treatment to people from your home country.
D) the tendency to overweight investments in your home country.

E) none of the above.
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An option has two periods before expiring. The underlying stock price is 50, and the exercise price is 40.
The stock price would either go by 10% or go down by 15%. The risk-free rate is 0.03 (3%). Assume that
the stock pays a dividend at the end of the first period with the rate of 0.04 (4%). Compute the value of
American call option regarding this binomial tree. (-4 o LEBFEEEX T B ARPE4)

Write down any regression model for testing market timing and explain how to identify market timing

ability in such model. (44« K &ERE £ 47 - RBEAR T )

What is the definition of weak-form market efficiency? Also, outline any two methods that could be used

to test weak-form market efficiency? (#-+Z 4 HERE 57 ABHE R FHH)
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